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tific calculator is permited (as appltcabts)"

Ql) out of Eight following sub
.:. ''1

questiOSs:

a) Define Operations Management. 'q..i

Enumerate any four

Enumerate any four

fragmen of Supply Chain.

ervice quality,

Describe the concept of

Examine the concept Inventory.

Describe PDCA

Q2) Solve any Two of the following sub questions:

a) Differentiate Continuous and Intermittent

b) Explain VED Analysis.
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c) Paraphrase the process of Capacity

P,TO.
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83) a) Relate the various criteria considered while selecting appropriate

operation process for food proce+sing unit. I10l
0R..'

b) Illustrate the concept of

Qa) a) Categortze

mventorv

b) M/s tJni

at the

as a planning tool.

control techniques and appraise the

with respect to ABC Analysis l10l
OR

Company buys its requirement of component

each from a local vendor every quarter. The average

of component is 600 nos. l0o/o extra components

take care of in-process rejection. The procurement cost

carrying cost have been calculated

20%o,*f, average inventory investrnent.

alj:Fs 50 per order and
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i) Economic Order teloptimize the cost.

ii) What is the total of existing inventory policy?

iii) How save by switching over EOQ

buying

,^'i:j

Q5) a) Compose Generic y.ehain Structure for new start-up of ve

and fruit selling comp&rr1r. The company receives the orders
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Workable assumptions can be cons

Cale-ulate:
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b) Draw the product process

operation processes on the

OR
matrix and map

same.
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